2011-2012 6TH GRADE CONTEST

Answers

26.

Chemist Karl wants to combine two chemicals at
a time, trying every such combination he can
come up with using the 7 chemicals in his kit. In
how many ways can Karl combine his chemicals?

A)14 B)21 42 D)49

27.

Each of the following numbers is a divisor of
2468024680246 802468024680 except

A) 4 By6 C)8 D) 20

28.

If I multiply three different prime numbers, the
product must have _?_ positive divisors.

A)3 B) 5 Q6 D) 8

26.

27.

28.

29.

22000 4. 22000 . 33000 4 33000 4 33000 =

A) 42000 1 93000 B) 24000 4 39000  C) 42001 + 93002

D) 22001 + 33001

29.
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Instructions

Time Do not open this booklet until you are told by your teacher to begin.
You might be unable to finish all 35 questions in the 30 minutes allowed.

Scores Please remember that this is a contest, and not a test—there is no
“passing” or “failing” score. Few students score as high as 28 points
(80% correct). Students with half that, 14 points, should be commended!

30.

I drop a nickel when I start walking at one end of a field 100 m long, | 30.
and drop another nickel every 5 m until I drop the last one at the other
end of the field. What is the total value of the nickels I have dropped?

A) $0.95 B) $1.00 C) $1.05 D) $1.10

31.

How many of the 1000 whole numbers from 1 to 1000 are both even | 31.
and the square of a whole number?

A) 15 B) 16 C) 30 D) 31

32.

If one-half of one-quarter of a square has an area of 8, what is the 32.
perimeter of the square?

A) 16 B) 32 C) 48 D) 64

33.

The sum of the first 100 positive multiples of 4is _? more than the 33.
sum of the first 100 positive multiples of 3.

A) 100 B) 400 C) 1200 D) 5050

34.

The ratio of Og’s clubs to skins is 5:3. If he
trades 4 of his clubs for 2 more skins, the
ratio of clubs to skins will be 8:7. How
many more clubs than skins does Og
have before any trading occurs?

A)8 B9 C10 D12

35.

What is the sum of the remainders when
100, 101, 102, . .., 998, 999, and 1000
are each divided by 97

A) 3600 B) 3601 C) 4500 D) 4501~

The end of the contest (2} 6

Visit our Web site at http://www.mathleague.com
Solutions on Page 117 e Answers on Page 148
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Format, Point Value, & Eligibility Every answerisan A, B, C, or D.
Write answers in the Answers column. A correct answer is worth 1 point.
Unanswered questions get no credit. You may use a calculator.
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